if.'@: A v~ WL -}i. gi%”f}?%
- &g 4 g’?"?ﬁ‘]ﬁ&é 9B 544
7w
RAER 23 2 5 L
RIER BT C 200-4E (ﬁ_)i/:l ) Iy
—ERXE FE128E K99 E3~T7TE BH59 £ 10049)
1.
M, AT B, K R & B
(WVEEC BHGEES 7. 3
EC BEDEEES . - D
GFEC EfED ERErtERE &, )
y T I I S S A= = A (I
(LFF 1, 6, T3 RS A, HkE 7
QFF 1. S, L 7 T, HEE i
I T = = m
PP R ST /b, e PR ST RO A
@F1. ¢ Tl T RTEE S L T 2 M 7

40 TR EYET RN & T PRS- ),
D EER, Bk
@Il F P AHBEEERE E)

TRy

(1)F, Aa A EAFEET) L 5 B A AR A B[

S. Aa. Bb. Cc. Dd[Y8A%, B [EAT]
A
(2)F Aa A BRAFISER) A 5 B A Ay AEI S AL

T

6. Af 5AEET= j?i’xﬁ? b NI ﬁhii'?ﬁﬂ“}**é‘?
DT, 2T, .
@, B FF %, F =
@)IHIE, & - % % 4%, .

To DR IFRPOTAGR . e T TP ISR R
(D& S, 2 R LR e .
(@ AU, (EPE DR

i



A ¥

— KRB (E1-27 S99 E 3778 B+E 549 £ 100 47)
1. (1)210;(2)72;(3)88 2. (1)144;(2)144 3. (1)14;(2)9 4. (1)2520;(2)864 5. (1)480;(2)144
6. (1)16807;(2)2520;(3)21 7. (1)1024;(2)781

— ERE (F1-2E BRI FH3-TE BH5H £ 1004)
1.
! !
(H4d—>C—>B: M L:210 1S —22r49r88
2121 413! IS 17HASe
T |4algs
2)4—>C—>D—>B: A A 1272 1= 4bepsaa
2121 31 21 I N 4 B e
CVLIE, FFRASSTE . A
2. (1)3xP!=144 .
@14 5ets L (3x2Y)xPi=144 .

3. (1)4-2x341x21=14 .
(2) 41-4x 314 6x 21— 4x11+1x01=9 .
8!
21212121
8! 71 6! 51
(2)1x —4x +B6x———Ax— +1x 4] = 2520 — 2520 +1080 — 240 + 24 =864 .
21212121 212121 2121 21

Ix = —4x(— FHE) + 6x (2 A AHHE) — 4Ax (= A AR + Ix (DY A1)

5, (1)3'><2!x2!=480 .

4. (1)

(2)(A>a)>B-ob)>E 4 * :%x3x2x4!:144 . <= Aa A A ZBUPEREI TR A 2 Bb A

Ay (R [ 3 IR PN ARES (2 ) BER 4 [ S R PR
6. (1) EHESTHI £ Hiif = 7° =16807 .

(2)5 [ IIP 2 A mx:;__zszo

Tj\nﬁﬁxx
(3)7 *fl12 * T8 00000xx :%:21

7. (1) 4° =1024 .
(2)Z — P} 1f =1024-3° =781 .



